L
LES 2]

E-2|E-3|E—4

THREHE

D-2|D-3|D—4
c-2|C-3|C—4

0014

oA e»\eA

1t-aufp

13 &y opp,
%12 91°y oo (i)

§ @

@ %1 0¥ ogig

o we osio @

| >

+@ 5422 5 osi0

Sl
O9¢ N 2 II“
%o 2
@ z _
= J,
(3 T Em N —
S08¥TIT oL o TIR=oozm——o
SIPE XE 057 O Z0%F
T
T
4
i =
B

ot.2-3

Wf-plig

As

y;

= Ih

TEE (TKEAIRR)

)

[AIRAT)

119687

© 50 esl

=

iy

“

02 4.20

STy,

N
4

>
]

sy

8
M
N

(G

[ExTy

8
3|
8
[
HL-Bali]

T iz
¥ 8T 051 @

*9% 09/ o

GoeD GRS
50 W %0 % 223 [ N
118,415 \113.37 ]
l@
0816
o ect o0

149

B 5008 ————===gy=

S0
250

1: 500

som

40

30

29




